

ARGUE THE SOLUTION TO THE RECURRENCE $T(n) = T(n-1) + \log(n)$ IS $O(\log(n!))$ USE THE SUBSTITUTION METHOD

ARGUE THE SOLUTION TO THE RECURRENCE $T(n) = T(n-1) + \log(n)$ IS $O(\log(n!))$ USE THE SUBSTITUTION METHOD

INTRODUCTION TO RECURRENCE RELATIONS AND THEIR SIGNIFICANCE

Recurrence relations are fundamental in computer science and mathematics for analyzing the time complexity of recursive algorithms. They define a sequence where each term is expressed in terms of previous terms, providing a structured way to understand how the algorithm's running time evolves as input size increases.

Understanding and solving these relations allow us to predict the efficiency and scalability of algorithms, which is crucial for optimization and resource management. A common recurrence relation encountered in divide-and-conquer algorithms and recursive procedures is:

$$T(n) = T(n-1) + \log n$$

In this article, we will delve into this recurrence relation, argue why its solution is bounded by $O(\log(n!))$, and demonstrate how to establish this using the substitution method.

UNDERSTANDING THE RECURRENCE RELATION $T(n) = T(n-1) + \log n$

The recurrence relation suggests that the total time $T(n)$ for an input size n can be broken down into:

- The time taken for the smaller problem of size $n-1$,
- Plus the cost associated with processing the current element, which is $\log n$.

This type of recurrence often appears in algorithms where each step involves logarithmic work, such as certain sorting algorithms or recursive data processing.

To analyze this recurrence, the key is to expand it iteratively:

$$\begin{aligned} T(n) &= T(n-1) + \log n \\ T(n-1) &= T(n-2) + \log(n-1) \\ T(n-2) &= T(n-3) + \log(n-2) \end{aligned}$$

And so on, until we reach the base case $T(1)$, which is typically a constant:

$$T(1) = c$$

Summing these up, we get:

$$T(N) = T(1) + \sum_{k=2}^N \log k$$

THIS SUM SIMPLIFIES TO:

$$T(N) = C + \sum_{k=2}^N \log k$$

RECOGNIZING THIS SUM AS THE LOGARITHM OF THE FACTORIAL:

$$T(N) = C + \log \left(\prod_{k=2}^N k \right) = C + \log (N!)$$

THUS, IT FOLLOWS THAT:

$$T(N) = O(\log (N!))$$

THE GOAL NOW IS TO FORMALIZE THIS BOUND RIGOROUSLY USING THE SUBSTITUTION METHOD.

EXPRESSING $(T(N))$ AS A SUM AND CONNECTING TO $(N!)$

THE SUM EXPRESSION:

$$T(N) = C + \sum_{k=2}^N \log k$$

CAN BE WRITTEN AS:

$$T(N) = C + \log (N!)$$

SINCE:

$$\prod_{k=2}^N k = N!$$

THEREFORE, THE PROBLEM REDUCES TO ANALYZING THE GROWTH OF $(\log(N!))$.

USING STIRLING'S APPROXIMATION TO BOUND $(\log(N!))$

STIRLING'S APPROXIMATION PROVIDES A WAY TO ESTIMATE FACTORIALS FOR LARGE (N) :

$$N! \sim \sqrt{2\pi N} \left(\frac{N}{e} \right)^N$$

TAKING THE LOGARITHM:

$$\log(\log(n!)) \sim \log \left(\sqrt{2\pi n} \left(\frac{n}{e} \right)^n \right)$$

APPLYING LOGARITHM PROPERTIES:

$$\begin{aligned} \log(n!) &\sim \log \sqrt{2\pi n} + n \log \frac{n}{e} \\ &= \frac{1}{2} \log(2\pi n) + n \log n - n \end{aligned}$$

AS (n) BECOMES LARGE, THE DOMINANT TERM IS $(n \log n)$, SO:

$$\log(n!) = \Theta(n \log n)$$

THIS INDICATES THAT:

$$T(n) = c + \log(n!) = O(n \log n)$$

BUT MORE PRECISELY, SINCE $(\log(n!))$ IS $(\Theta(n \log n))$, THE RECURRENCE RELATION'S SOLUTION CAN BE BOUNDED BY THIS FUNCTION.

ESTABLISHING THE BOUND $(T(n) = O(\log(n!)))$ USING THE SUBSTITUTION METHOD

THE SUBSTITUTION METHOD INVOLVES HYPOTHESIZING AN UPPER BOUND AND PROVING IT HOLDS VIA MATHEMATICAL INDUCTION.

HYPOTHESIS:

SUPPOSE THAT FOR SOME CONSTANT $(k > 0)$, THE RECURRENCE RELATION SATISFIES:

$$T(n) \leq k \log(n!)$$

FOR ALL SUFFICIENTLY LARGE (n) .

BASE CASE:

FOR $(n=1)$:

$$T(1) = c$$

AND

$$\begin{aligned} & \backslash[\\ & k \backslash \text{LOG}(1!) = k \backslash \text{LOG } 1 = 0 \\ & \backslash] \end{aligned}$$

CHOOSE $\backslash(k\backslash)$ SUCH THAT:

$$\begin{aligned} & \backslash[\\ & c \backslash \text{LEQ } 0 \\ & \backslash] \end{aligned}$$

WHICH MIGHT NOT BE TRUE UNLESS $\backslash(c=0\backslash)$. TO ACCOMMODATE THIS, WE CAN SELECT A SUFFICIENTLY LARGE $\backslash(k\backslash)$ TO SATISFY INITIAL CONDITIONS OR ADJUST THE HYPOTHESIS TO:

$$\begin{aligned} & \backslash[\\ & T(n) \backslash \text{LEQ } k \backslash \text{LOG}(n!) \\ & \backslash] \end{aligned}$$

FOR $\backslash(n \backslash \text{GEQ } n_0\backslash)$, WHERE $\backslash(n_0\backslash)$ IS SOME SUFFICIENTLY LARGE INTEGER.

INDUCTIVE STEP:

ASSUME:

$$\begin{aligned} & \backslash[\\ & T(n-1) \backslash \text{LEQ } k \backslash \text{LOG}((n-1)!) \\ & \backslash] \end{aligned}$$

WE NEED TO PROVE:

$$\begin{aligned} & \backslash[\\ & T(n) \backslash \text{LEQ } k \backslash \text{LOG}(n!) \\ & \backslash] \end{aligned}$$

FROM THE RECURRENCE:

$$\begin{aligned} & \backslash[\\ & T(n) = T(n-1) + \backslash \text{LOG } n \\ & \backslash] \end{aligned}$$

USING THE INDUCTIVE HYPOTHESIS:

$$\begin{aligned} & \backslash[\\ & T(n) \backslash \text{LEQ } k \backslash \text{LOG}((n-1)!) + \backslash \text{LOG } n \\ & \backslash] \end{aligned}$$

RECALL THAT:

$$\begin{aligned} & \backslash[\\ & (n)! = n \backslash \text{TIMES } (n-1)! \\ & \backslash] \end{aligned}$$

THUS:

$$\begin{aligned} & \backslash[\\ & \backslash \text{LOG}(n!) = \backslash \text{LOG } n + \backslash \text{LOG}((n-1)!) \end{aligned}$$

\]

REPLACING:

$$\begin{aligned} T(N) &\leq k \left[\log(N!) - \log N \right] + \log N \end{aligned}$$

SIMPLIFY:

$$\begin{aligned} T(N) &\leq k \log(N!) - k \log N + \log N \end{aligned}$$

$$\begin{aligned} T(N) &\leq k \log(N!) + (1 - k) \log N \end{aligned}$$

TO ENSURE:

$$\begin{aligned} T(N) &\leq k \log(N!) \end{aligned}$$

IT SUFFICES THAT:

$$\begin{aligned} (1 - k) \log N &\leq 0 \end{aligned}$$

WHICH HOLDS IF:

$$\begin{aligned} k &\geq 1 \end{aligned}$$

THEREFORE, CHOOSING $(k \geq 1)$, THE INDUCTIVE STEP IS VALID, CONFIRMING:

$$\begin{aligned} T(N) &\leq k \log(N!) \end{aligned}$$

FOR ALL SUFFICIENTLY LARGE (N) .

CONCLUSION: THE RECURRENCE $(T(N) = T(N-1) + \log N)$ IS $(O(\log(N!)))$

BY ANALYZING THE RECURRENCE RELATION AND APPLYING THE SUBSTITUTION METHOD, WE'VE SHOWN THAT:

$$\begin{aligned} T(N) &= O(\log(N!)) \end{aligned}$$

AND, THROUGH STIRLING'S APPROXIMATION, THAT:

\]

$$T(N) = \Theta(N \log N)$$

THIS INDICATES THAT THE RECURSIVE PROCESS GROWS ROUGHLY ON THE ORDER OF $(N \log N)$, WHICH IS CONSISTENT WITH MANY EFFICIENT ALGORITHMS LIKE MERGESORT AND HEAPSORT IN THEIR LOGARITHMIC DECOMPOSITION PHASES.

IMPLICATIONS FOR ALGORITHM DESIGN AND ANALYSIS

UNDERSTANDING THE GROWTH BOUNDS OF RECURRENCE RELATIONS SUCH AS $(T(N) = T(N-1) + \log N)$ IS VITAL IN ALGORITHM ANALYSIS. IT HELPS:

- PREDICT THE SCALABILITY OF RECURSIVE ALGORITHMS.
- IDENTIFY POTENTIAL BOTTLENECKS.
- OPTIMIZE RECURSIVE PROCESSES TO ENSURE THEY REMAIN WITHIN ACCEPTABLE TIME COMPLEXITIES.

THE SUBSTITUTION METHOD REMAINS A POWERFUL TOOL FOR FORMALIZING THESE BOUNDS AND PROVIDING RIGOROUS PROOFS IN ALGORITHM ANALYSIS.

SUMMARY

- THE RECURRENCE RELATION $(T(N) = T(N-1) + \log N)$ SUMMATES TO $(\log(N!))$.
- USING STIRLING'S APPROXIMATION, $(\log(N!) = \Theta(N \log N))$.
- THROUGH THE SUBSTITUTION METHOD, WE ESTABLISHED THAT $(T(N) = O(\log(N!)))$.
- THIS GROWTH RATE IS TYPICAL FOR ALGORITHMS WITH RECURSIVE STEPS INVOLVING LOGARITHMIC COSTS.

UNDERSTANDING THESE CONCEPTS ENHANCES THE ABILITY TO ANALYZE AND OPTIMIZE RECURSIVE ALGORITHMS EFFECTIVELY, ENSURING THEY PERFORM EFFICIENTLY AT LARGE INPUT SIZES.

REFERENCES

- CORMEN, T. H., LEISERSON, C. E., RIVEST, R. L., & STEIN, C. (2009). INTRODUCTION TO ALGORITHMS (3RD ED.). MIT PRESS.
- SEDGEWICK, R., & FLAJOLET, P. (2013). AN INTRODUCTION TO THE ANALYSIS OF ALGORITHMS. ADDISON-WESLEY.
- STIRLING'S APPROXIMATION AND ITS APPLICATIONS IN ALGORITHM ANALYSIS.
- RECURSION AND RECURRENCE RELATION SOLVING TECHNIQUES IN ALGORITHM DESIGN.

FREQUENTLY ASKED QUESTIONS

WHAT IS THE RECURRENCE RELATION $T(N) = T(N-1) + \log(N)$, AND WHAT DOES IT REPRESENT?

THE RECURRENCE $T(N) = T(N-1) + \log(N)$ DESCRIBES A PROCESS WHERE EACH TERM DEPENDS ON THE PREVIOUS TERM PLUS THE LOGARITHM OF N, OFTEN REPRESENTING CUMULATIVE COSTS OR RECURSIVE ALGORITHMS THAT ADD A LOGARITHMIC AMOUNT AT EACH STEP.

HOW CAN WE USE THE SUBSTITUTION METHOD TO DETERMINE THE ASYMPTOTIC

BEHAVIOR OF $T(n)$?

THE SUBSTITUTION METHOD INVOLVES GUESSING A BOUND FOR $T(n)$, THEN PROVING IT HOLDS VIA INDUCTION. IN THIS CASE, WE HYPOTHESE $T(n) = O(\log n!)$, THEN VERIFY BY SUBSTITUTION THAT THIS BOUND IS VALID.

WHAT IS THE RELATIONSHIP BETWEEN $\log(n!)$ AND THE SUM OF LOGARITHMS, AND HOW DOES IT HELP IN ANALYZING $T(n)$?

SINCE $\log(n!) = \log(1) + \log(2) + \dots + \log(n)$, THE SUM OF LOGS DIRECTLY RELATES TO THE RECURRENCE, ALLOWING US TO COMPARE $T(n)$ TO $\log(n!)$ AND ESTABLISH BIG O BOUNDS.

IS $T(n) = O(\log n!)$, AND HOW CAN WE PROVE THIS USING THE SUBSTITUTION METHOD?

YES, $T(n) = O(\log n!)$ CAN BE PROVED BY ASSUMING $T(n) \leq c \log n!$ FOR SOME CONSTANT c , THEN VERIFYING THE BASE CASE AND INDUCTIVE STEP USING THE RECURRENCE RELATION.

WHAT IS THE ASYMPTOTIC COMPLEXITY OF $\log(n!)$, AND HOW DOES THAT RELATE TO $O(\log n!)$?

USING STIRLING'S APPROXIMATION, $\log(n!) \approx n \log n - n + O(\log n)$, SO $T(n) = O(n \log n)$, WHICH IS ALSO $O(\log n!)$ DUE TO THEIR ASYMPTOTIC EQUIVALENCE.

HOW DOES STIRLING'S APPROXIMATION ASSIST IN ANALYZING THE RECURRENCE $T(n) = T(n-1) + \log(n)$?

STIRLING'S APPROXIMATION ALLOWS US TO APPROXIMATE $\log(n!)$ AND THUS DEDUCE THAT THE SUM OF $\log(n)$ TERMS GROWS APPROXIMATELY AS $n \log n$, SUPPORTING THE $O(\log n!)$ BOUND.

CAN THE RECURRENCE $T(n) = T(n-1) + \log(n)$ BE SOLVED EXPLICITLY, AND WHAT IS ITS SOLUTION?

YES, SUMMING UP THE RECURRENCE YIELDS $T(n) = T(1) + \sum_{k=2}^n \log(k) = T(1) + \log(n!)$, WHICH IS $O(n \log n)$.

WHY IS THE RECURRENCE $T(n) = T(n-1) + \log(n)$ CONSIDERED TO HAVE A SOLUTION OF $O(\log n!)$, AND WHAT DOES THIS IMPLY ABOUT ITS GROWTH RATE?

BECAUSE THE SUM OF LOGS FROM 1 TO n EQUALS $\log(n!)$, AND $\log(n!)$ GROWS ROUGHLY AS $n \log n$, $T(n)$ IS $O(n \log n)$. SINCE $O(\log n!)$ CAPTURES THIS GROWTH, IT CONFIRMS THE SOLUTION'S ASYMPTOTIC BEHAVIOR.

ADDITIONAL RESOURCES

ARGUE THE SOLUTION TO THE RECURRENCE $T(n) = T(n-1) + \log(n)$ IS $O(\log(n!))$ USING THE SUBSTITUTION METHOD

WHEN ANALYZING RECURSIVE ALGORITHMS, UNDERSTANDING THEIR TIME COMPLEXITIES IS CRUCIAL FOR EVALUATING EFFICIENCY AND SCALABILITY. ONE COMMON RECURRENCE RELATION THAT ARISES IN DIVIDE-AND-CONQUER ALGORITHMS, DYNAMIC PROGRAMMING, AND OTHER RECURSIVE APPROACHES IS:

$$T(n) = T(n-1) + \log(n)$$

THIS RECURRENCE SUGGESTS THAT THE TIME TO SOLVE A PROBLEM OF SIZE n DEPENDS ON THE SOLUTION FOR SIZE $n-1$, PLUS SOME ADDITIONAL COST PROPORTIONAL TO THE LOGARITHM OF n . THE CHALLENGE IS TO FIND AN EXPLICIT UPPER BOUND FOR

$T(N)$. THE GOAL IS TO ARGUE THAT $T(N) = O(\log(N!))$ BY APPLYING THE SUBSTITUTION METHOD—A POWERFUL TECHNIQUE FOR PROVING ASYMPTOTIC BOUNDS.

IN THIS COMPREHENSIVE GUIDE, WE'LL DELVE INTO THE DETAILS OF THIS RECURRENCE, EXPLORE THE INTUITION BEHIND THE CONCLUSION, AND SYSTEMATICALLY APPLY THE SUBSTITUTION METHOD TO ESTABLISH THE COMPLEXITY BOUND.

UNDERSTANDING THE RECURRENCE RELATION

BEFORE JUMPING INTO THE PROOF, LET'S BREAK DOWN WHAT THE RECURRENCE RELATION $T(N) = T(N-1) + \log(N)$ SIGNIFIES.

INTUITIVE EXPLANATION

- $T(N-1)$: THE TOTAL TIME TO SOLVE THE SMALLER PROBLEM OF SIZE $N-1$.
- $\log(N)$: THE ADDITIONAL WORK DONE AT THE CURRENT STEP, OFTEN REPRESENTING OPERATIONS LIKE COMPARISON, INDEXING, OR OTHER LOGARITHMIC COSTS.

THIS RECURRENCE INDICATES THAT THE TOTAL WORK ACCUMULATES AS WE PROGRESS FROM THE BASE CASE UP TO SIZE N , WITH EACH STEP ADDING A LOGARITHMIC COMPONENT.

STEP 1: UNFOLDING THE RECURRENCE

TO BETTER UNDERSTAND $T(N)$, LET'S UNROLL OR EXPAND THE RECURRENCE:

$$T(N) = T(N-1) + \log(N)$$

$$T(N-1) = T(N-2) + \log(N-1)$$

$$T(N-2) = T(N-3) + \log(N-2)$$

...

$$T(2) = T(1) + \log(2)$$

ASSUMING $T(1) = c$, A CONSTANT (BASE CASE), THE EXPANSION YIELDS:

$$T(N) = T(1) + \log(2) + \log(3) + \dots + \log(N)$$

EXPRESSED AS:

$$T(N) = c + \sum_{k=2}^N \log(k)$$

STEP 2: EXPRESSING THE SUM

THE SUM $\sum_{k=2}^N \log(k)$ IS FUNDAMENTAL TO DETERMINING $T(N)$. RECOGNIZE THAT:

$$\sum_{k=2}^N \log(k) = \log(2) + \log(3) + \dots + \log(N)$$

THIS SUM SIMPLIFIES TO:

$$\log(2 \cdot 3 \cdot \dots \cdot N) = \log(N!)$$

THEREFORE,

$$T(N) = c + \log(N!)$$

SINCE c IS A CONSTANT, THE ASYMPTOTIC BEHAVIOR OF $T(N)$ HINGES ON $\text{LOG}(N!)$.

STEP 3: ASYMPTOTIC BEHAVIOR OF $\text{LOG}(N!)$

APPROXIMATE $\text{LOG}(N!)$ USING STIRLING'S APPROXIMATION

TO ANALYZE $\text{LOG}(N!)$, STIRLING'S APPROXIMATION PROVIDES A POWERFUL ESTIMATE:

$$N! \approx \sqrt{2\pi N} \left(\frac{N}{e}\right)^N$$

TAKING THE LOGARITHM:

$$\text{LOG}(N!) \approx \text{LOG}(\sqrt{2\pi N}) + N \text{LOG}(N/e)$$

$$= (1/2) \text{LOG}(2\pi N) + N (\text{LOG } N - 1)$$

IGNORING LOWER-ORDER TERMS FOR LARGE N , THE DOMINANT TERM IS:

$$\text{LOG}(N!) \approx N \text{LOG } N - N + O(\text{LOG } N)$$

THUS, $\text{LOG}(N!)$ GROWS ASYMPTOTICALLY AS $O(N \text{LOG } N)$.

STEP 4: CONNECTING TO THE BIG-O NOTATION

OUR EARLIER CONCLUSION WAS:

$$T(N) \approx c + \text{LOG}(N!)$$

WHICH IMPLIES:

$$T(N) = O(N \text{LOG } N)$$

HOWEVER, THE PROBLEM ASKS US TO ARGUE THAT $T(N) = O(\text{LOG}(N!))$. SINCE $\text{LOG}(N!)$ ITSELF IS APPROXIMATELY $N \text{LOG } N$, IT FOLLOWS THAT:

$$T(N) = O(\text{LOG}(N!))$$

BECAUSE:

- THE SUM $\sum_{k=1}^N \text{LOG}(k)$ EQUALS $\text{LOG}(N!)$
- THE RECURSIVE RELATION'S TOTAL WORK $T(N)$ IS PROPORTIONAL TO $\text{LOG}(N!)$

THIS ESTABLISHES THE CORE INTUITION THAT $T(N) = O(\text{LOG}(N!))$.

STEP 5: APPLYING THE SUBSTITUTION METHOD

THE SUBSTITUTION METHOD INVOLVES ASSUMING AN INDUCTIVE HYPOTHESIS AND PROVING THAT IT HOLDS FOR ALL N BEYOND A BASE CASE.

INDUCTIVE HYPOTHESIS

SUPPOSE, FOR SOME CONSTANT $k > 0$, THAT:

$$T(N) \leq \kappa \log(N!) + c'$$

FOR ALL $N \geq 1$, WHERE c' IS A CONSTANT.

WE WANT TO VERIFY THAT THIS HYPOTHESIS HOLDS, I.E., THAT:

$$T(N) \leq \kappa \log(N!) + c'$$

BASE CASE ($N=1$)

$$T(1) = c \text{ (SOME CONSTANT)}$$

$$\log(1!) = \log(1) = 0$$

THEREFORE,

$$T(1) = c \leq c'$$

CHOOSE $c' \geq c$ TO SATISFY THE BASE CASE.

INDUCTIVE STEP

ASSUMING THE HYPOTHESIS HOLDS FOR $N-1$:

$$T(N-1) \leq \kappa \log((N-1)!) + c'$$

FROM THE RECURRENCE:

$$T(N) = T(N-1) + \log(N)$$

USING THE INDUCTIVE HYPOTHESIS:

$$T(N) \leq \kappa \log((N-1)!) + c' + \log(N)$$

RECALL THAT:

$$\log(N!) = \log(N) + \log((N-1)!)$$

THUS,

$$T(N) \leq \kappa [\log(N!) - \log(N)] + c' + \log(N)$$

$$= \kappa \log(N!) - \kappa \log(N) + c' + \log(N)$$

NOW, GROUP TERMS:

$$T(N) \leq \kappa \log(N!) + [c' + \log(N) - \kappa \log(N)]$$

$$= \kappa \log(N!) + c' + (1 - \kappa) \log(N)$$

TO ENSURE THAT $T(N) \leq \kappa \log(N!) + c'$, THE REMAINING TERM MUST BE NON-POSITIVE:

$$(1 - \kappa) \log(N) \leq 0$$

SINCE $\log(N) \geq 0$ FOR $N \geq 1$, THIS INEQUALITY HOLDS IF:

$$\kappa \geq 1$$

THUS, CHOOSING $\kappa \geq 1$, THE INDUCTIVE HYPOTHESIS SUSTAINS.

CONCLUSION:

BY MATHEMATICAL INDUCTION, ASSUMING $k \geq 1$, THERE EXISTS A CONSTANT c' SUCH THAT:

$$T(n) \leq k \log(n!) + c'$$

FOR ALL $n \geq 1$.

GIVEN THAT $\log(n!)$ IS $O(n \log n)$, IT FOLLOWS THAT:

$$T(n) = O(\log(n!))$$

WHICH COMPLETES OUR ARGUMENT.

FINAL REMARKS AND IMPLICATIONS

- THE CORE INSIGHT HINGES ON RECOGNIZING THAT THE SUM OF LOGARITHMS FROM 2 TO n IS EXACTLY $\log(n!)$.
- STIRLING'S APPROXIMATION HELPS ESTABLISH THE ASYMPTOTIC BEHAVIOR OF $\log(n!)$, CONFIRMING THAT IT IS $O(n \log n)$.
- THE SUBSTITUTION METHOD VALIDATES THAT $T(n)$ IS BOUNDED ABOVE BY A CONSTANT MULTIPLE OF $\log(n!)$, MAKING $T(n) = O(\log(n!))$.

SUMMARY OF KEY POINTS

1. RECURRENCE RELATION: $T(n) = T(n-1) + \log(n)$
2. UNROLLING: $T(n) = T(1) + \sum_{k=2}^n \log(k)$
3. SUM SIMPLIFICATION: $\sum_{k=2}^n \log(k) = \log(n!)$
4. ASYMPTOTIC APPROXIMATION: $\log(n!) \approx n \log n - n + O(\log n)$
5. COMPLEXITY CONCLUSION: $T(n) = O(\log(n!))$
6. SUBSTITUTION METHOD: VALIDATED BY INDUCTION, WITH THE KEY PARAMETER $k \geq 1$.

PRACTICAL TAKEAWAYS

- WHEN ANALYZING RECURRENCES WITH ADDITIVE LOGARITHMIC TERMS, CONSIDER EXPRESSING THE SUM AS A FACTORIAL LOGARITHM.
- USE STIRLING'S APPROXIMATION TO UNDERSTAND THE GROWTH RATE OF FACTORIAL-RELATED LOGARITHMS.
- THE SUBSTITUTION METHOD IS A VERSATILE TECHNIQUE FOR CONFIRMING ASYMPTOTIC BOUNDS, ESPECIALLY WHEN THE SOLUTION INVOLVES FACTORIALS OR SUMS OF LOGS.

BY METICULOUSLY APPLYING THESE STEPS, WE'VE CONFIDENTLY ARGUED THAT $T(n) = O(\log(n!))$ FOR THE RECURRENCE $T(n) = T(n-1) + \log(n)$, HIGHLIGHTING THE POWER OF THE SUBSTITUTION METHOD IN RECURRENCE ANALYSIS.

[Argue The Solution To The Recurrence \$T\(n\) = T\(n-1\) + \log n\$ Is \$O\(\log n\)\$ Use The Substitution Method](#)

Argue The Solution To The Recurrence $T(n) = T(n-1) + \log n$ Is $O(\log n)$ Use The Substitution Method

Related Articles

- [According To Rushworth Kidder, Founder Of The Institute For Global Ethics, What Ethical Scenarios Are](#)
- [A Store Sells Bags Of Gold Fish For \\$3.00, Bags Of Animal Crackers For \\$3.50, And Bags Of Gummies For](#)
- [A Full Can Of Paint Contains \$\frac{4}{5}\$ Of A Gallon. Brandon Used \$\frac{3}{4}\$ Of A Can Of Paint To Paint A Doghouse.](#)

[Back to Home](#)